ABB BK

Tomatsas-Xtra 2020-03-09

Partavling, 10 bord, 20 par. Antal brickor: 24. Medel: 216.0.

Plac Par Poang % Namn MID Klubb
1 5 282.6 65.42 Solveig Bystrom - Nils Andersson 57019 3543 ABBBK
2 3 250.5 57.98 Jan Carlsson - Benny Fredriksson 64916 64915 ABBBK
3 4 242.7 56.17 Johnny Ramsten - Helena Lindholm 90802 49544 Hallstahammars BK
4 18 2269 5253 Mats Bodén - Per-Erik Eriksson 80071 23457 ABBBK
5 6 226.9 5253 Hé&kan Lindback - Bengt-Ake Leskinen 2658 13009 ABB BK - Smedstadens BK
6 16 225.0 52.08 Kristina Ronnback - Lena Andersson 45336 11061 ABB BK
7 1 224.3 5193 Lars Marjoniemi - Eva Czajkowski 14508 8995 Hallstahammars BK - ABB BK
8 15 2239 51.82 Ulf Bergdahl - Marianne Ekholm 11639 35604 ABB BK
9 20 220.9 51.13 Torsten Andersson - Hakan Carlsson 38511 48227 ABBBK
10 14 214.6 49.67 AsaAndersson - Jan Roos 7928 9397 ABB BK - Smedstadens BK
11 11 213.2 49.36 Barbro Lonning - Elisabeth Waldekranz 64917 52172 ABBBK
12 2 212.4 49.16 Bo Bredenhof - Katarina Bredenhof Heijkenskjold 68150 68151 ABB BK
13 17 2119 49.05 Irene Fredriksson - Bjorn Carlsson 64921 65159 ABBBK
14 12 2109 48.81 Lennart Karlsson - Tord Jonsson 2871 2867 Hallstahammars BK
15 13  209.8 48.57 Erik Andersson - Gunnar Muhr 3992 3977 ABBBK
16 10 206.6 47.83 Bjorn Larsson - Karin Larsson 34663 34647 ABBBK
17 8 195.9 45.35 Lennart Ekholm - Christer Astrém 50946 38022 ABB BK
18 7 178.5 41.33 Rickard Persson - Anders Lindgvist 21893 7859 ABB BK
19 9 172.2 39.85 Ingvar Bengtsson - Jaakko Sarasalo 39842 18690 ABBBK
20 19 170.2 39.41 Carl-Erik Halling - Conny Wahlgren 12175 10733 ABBBK
1 462 Bésta kontrakt 2 498432 Basta kontrakt 3 aE2 Basta kontrakt
Nord v EKn 5& N =400 Ost vKn3 INT S =2220 Syd v D8742 64 V =-1430
Ingen + K765 NS ¢+ E9 ov ¢ 63
#EK873 & ¢ v & NT #ED76 & ¢ v & NT #D654 & ¢ v & NT
4 KKn743 «ED109 N 119 8 5 8 4 D5 4 Kn1076 N 1210131113 4 K7653 4D84 N2 4412
v72 v 98543 S 118 8 5 8 v 98652 v4 S 1210131113 vE9%3 vK S 24412
41083 ¢ D942 003471 ¢+ Kn10875 ¢ D64 013020 ¢ED8 754 O 119 9 1211
#Kn109  &- Vo0o1l1471 +10 #Kn8432 V13020 *9 #EKKNn732 VvV 119 9 1211
485 4 EK 4 Kn109
vKD106 v EKD107 v Kn105
¢ EKn + K32 + KKn1092
#D6542 *K95 %108
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
19 2 3NN+4 v9 520 180 00| 4 17 6NN+1 &4 1470 180 00| 6 20 44 V-1 s A 100 150 3.0
4 17 54 N+2 ¢4 440 120 6.0 7 9 B6NS= +J 1440 140 40|11 18 3NV-1 v2 100 150 3.0
7 9 54N+2 9 440 120 6.0(16 8 B6NS= v5 1440 140 40|12 4 44 V-1 +6 100 150 3.0
11 3 5#N+2 v5 440 120 6.0(18 10 6NS= ¢5 1440 140 40|13 2 44 V-1 +6 100 150 3.0
16 8 54 N+2 v3 440 120 6.0(13 1 3NN+4 #4 720 90 90| 1 15 3a V= +6 -140 100 8.0
18 10 54 N+2 v3 440 120 6.0(20 5 3NS+4 ¢J 720 9.0 90| 8 10 24 V+2 +¢6 -170 8.0 10.0
13 1 3NN= 49 400 6.0 120| 6 14 3NS+3 ¢J 690 6.0 120|114 7 3NV= +6 -600 6.0 12.0
12 15 3 N+2 &T 150 3.0 15011 3 4vy S+2 &T 680 40 140| 9 16 44 V= *4 -620 3.0 150
20 5 3« N+2 4A 150 3.0 15012 15 7v S-1 +J -100 1.0 17.0|19 3 44 V= +6 -620 3.0 15.0
6 14 34DO= &5 -530 0.0 18019 2 64 S-1 +J -100 10 17.0|17 5 44 V+1l w7 -650 0.0 18.0
4 4 Kn102 Bésta kontrakt 5 & DKn765 Bésta kontrakt 6 & Kn86 Bésta kontrakt
Vast v 9754 5NT V =-660 Nord vKn75 5¢ O =-400 Ost vD4 5¢v O =-650
Alla 4 NS +93 ov ¢+ Kn94
#KKn1073 & ¢ v & NT #EDKn & ¢ v & NT #KDKn82 & ¢ v & NT
476 4 E98 N6 2262 a- 4 E1043 N6 25765 453 4 EKD9 N52222
vEKn108 vKD2 S6 226 2 vKD863 v9 S6 2585 vE10975 vKn8 S52222
¢ EK1083 ¢ Kn962 O 7 11116 11 ¢EKD42 ¢Kn10875 O 7 117 5 7 ¢E ¢K1086532 O 8 11119 9
«D4 *E86 vV 7 11116 11 #875 *K96 vV 7 117 5 7 #E10763 &- vV 8 11119 9
4 KD543 & K982 410742
v 63 vE1042 v K632
+ D75 +6 + D7
%952 210432 #954
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
1 15 5¢ V-1 v5 100 150 30| 6 17 4vyDV-4 «Q 800 180 00| 1 5 3NV-1 *K 100 16.0 20
6 20 3NO-1 &3 100 150 30(15 2 3v V-2 40Q 100 150 30| 4 19 6¢ O-1 &5 100 16.0 2.0
14 7 3NO-1 &K 100 150 3.0(18 12 3v V-2 4Q 100 150 30|14 8 3NV-1 *K 100 16.0 20
19 3 6¢ V-1 s] 100 150 3.0[(20 7 4¢ O+1 «38 -150 12.0 6.0|13 3 4¢ O+1 2 -150 110 7.0
9 16 3¢ V+1 v9 -130 100 8.0| 9 11 44 N-3  ¢J -300 100 80|15 2 3¢ O+2 ¥3 -150 11.0 7.0
13 2 44DN-2 vK -500 8.0 100| 4 19 3NO= a2 -400 70 11.0|10 16 3¢ O+3 %4 -170 8.0 10.0
8 10 5¢ V= +4 -600 6.0 120|14 8 5¢ V= a5 -400 70 11.0| 6 17 5¢ O= a4 -600 5.0 13.0
11 18 3NO+1 43 -630 20 16.0|10 16 5¢ O+1 vA -420 40 140( 9 11 3NV= &K -600 5.0 13.0
12 4 3NQO+1 &K -630 20 16.0|13 3 54 N-5 v9 -500 20 16.0|20 7 3NV+l &K -630 2.0 16.0
17 5 3NO+1 3 -630 20 16.0| 1 5 5¢DV= 45 -550 0.0 18.0(18 12 64 O= 9 -1370 0.0 18.0
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7 4 DKn108754 Basta kontrakt 8 4964 Basta kontrakt 9 4963 Basta kontrakt
Syd v 863 34 S =140 Vast v EKDKn542 6v N D -4 -800 Nord vED3 4v O =-620
Alla *74 Ingen 4653 ov + D985
*6 & ¢ v & NT »- & ¢ v & NT #DKn10 & ¢ v & NT
s E & K2 N457 96 & Kn2 « ED73 N13843 « EKKN10 452 N4 43 44
vD72 v EKn4 S457 96 v3 v 108 S13843 vKKn86  v972 S453565
+D10953 ¢ Kn862 098546 ¢ EK1074 D O 128 4 8 6 ¢ K62 ¢ E107 09 8 108 8
#KDKn8 #9754 V88546 #Kn10973 #EKD842 V 129 4 8 6 74 #E8652 vV 9 8 108 8
# 963 » K1085 D874
v K1095 v 976 v 1054
¢+ EK + Kn982 ¢ Kn43
#E1032 #65 #K93
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
19 5 4¢DV-3 #6 800 180 00| 8 20 4v N-1 A 50 170 1.0(14 10 INV-1 +8 100 16.0 2.0
15 3 44 N= +6 620 16.0 20(14 9 3vy N-1 +Q 50 17.0 1.0(16 12 2NV-1 +8 100 16.0 2.0
14 9 4¢DO-1 43 200 140 40(15 3 4y N-2 *A -100 140 4.0|20 9 2NV-1 +8 100 16.0 20
8 20 24 S+1 ¢3 140 11.0 70| 7 17 54 0= v9 -400 90 90| 3 7 INV= *0Q -90 10.0 8.0
16 11 24 N+1 ¢6 140 11.0 7.0(10 12 5 V= vJ] -400 9.0 90| 6 19 INV= *0Q -90 10.0 8.0
2 6 44 N-1 *5 -100 6.0 12.0|13 4 5#0= v9 -400 90 9.0|15 4 INV= *Q -90 100 8.0
7 17 44 N-1 ¢+6 -100 6.0 12.0(16 11 540 = v6 -400 9.0 90| 2 18 24 S-3 v6 -150 5.0 13.0
13 4 44 N-1 2 -100 6.0 120| 1 18 54O +1 6 -420 20 16.0|13 5 2NN-3 »2 -150 5.0 13.0
10 12 3¢ V= *6 -110 20 160 2 6 540+1 v6 -420 20 16011 1 2NV+2 &Q -180 2.0 16.0
1 18 1¢ S- s A -200 00 180(19 5 540+1 ¥6 -420 20 16.0|17 8 INV+4 8 -210 0.0 18.0
10 » EK96 Bésta kontrakt 11 4 D96 Bésta kontrakt 12 4743 Bésta kontrakt
Ost v Kn103 2¢ O =-90 Syd v E10543 44V D -1 100 Vast v K8432 5¢ O =-400
Alla ¢ 104 Ingen + Kn865 NS ¢ Kn74
+D874 & ¢ v & NT *2 & ¢ v & NT #52 & ¢ v & NT
47432  4Knl0 N855 77 ~E32 &« KKn N45896 » Kn102 D85 N5 2444
vK654 v ES87 S85577 v 87 vKn9 S35896 vEDKn105 v6 S52 444
¢ KKn85 ¢ E632 O58 766 ¢E72 ¢+ D1094 098447 + E1032 + KD65 08 119 8 9
*2 #Kn1096 V58766 #K9763 #DKn1084 V 9 8 4 4 7 «D #EKN943 vV 8 108 8 9
4 D85 + 108754 » EK96
v D92 vKD62 v 97
+ D97 + K3 +98
#EK53 &E5 #K10876
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
20 9 24 N= 29 110 180 00|12 2 4y S= *6 420 180 00| 4 8 5¢ V-2 *5 100 16.0 20
3 7 INS= +5 90 150 30|18 3 3vy S+1 43 170 150 30|14 11 3NO-2 +9 100 16.0 2.0
14 10 INS= +8 90 150 3.0(19 7 24 S+2 v7 170 150 3.0(18 3 3¢ V-2 a7 100 16.0 2.0
6 19 Pass 120 6.0(10 20 3v N= *Q 140 120 6.0(12 2 5¢ O-1 &A 50 110 7.0
11 1 2NS-1 +5 -100 6.0 12014 11 58 V-1 46 50 100 80|17 9 3NO-1 46 50 11.0 7.0
13 5 24 N-1 ] -100 6.0 120|13 6 4vy N-1 *Q -50 8.0 100(19 7 3¢ V+1 3 -130 8.0 10.0
15 4 INS-1 +5 -100 6.0 12.0|16 1 44DS-1 3 -100 5.0 13.0(10 20 3NO= 49 -400 4.0 14.0
16 12 24 N-1 vA -100 6.0 12017 9 5v N-2 *0Q -100 50 130|183 6 3NO= s A -400 40 14.0
17 8 34 N-1 LN -100 6.0 12015 5 4aV= «Q -130 20 160|116 1 3NO= 49 -400 4.0 14.0
2 18 34 N-2 *J -200 0.0 180 4 8 3&#V+2 46 -150 0.0 18015 5 3NO+1 &A -430 0.0 18.0
13 4E8 Basta kontrakt 14 4 EKD106 Basta kontrakt 15 4 Kn3 Basta kontrakt
Nord v EK764 2NT N =120 Ost v KD9632 54 S =450 Syd v E875 2NTV =-120
Alla + 875 Ingen +6 NS + Kn9
»875 & ¢ v & NT «Kn & ¢ v & NT #EKKN86 & ¢ v & NT
« DKn102 964 N9 6 87 8 432 &« Kn97 N2 3 11113 & D7 # 10982 N7 7 7765
v Kn85 v 1093 S 96878 vKn4 v 1087 S 2 3 11113 vD10964 vK2 S 676 85
¢D1032 ¢ EK94 036565 ¢+ EKDKn8 ¢ 103 098222 + EK2 + D85 O6 4658
D2 »E64 V36565 #D1053  #EK876 V98222 #1072 #D953 V6460538
4 K753 4 854 & EK654
vD2 vE5 vKn3
+ Kn6 497542 4107643
#KKn1093 %942 *4
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
5 9 INS+3 4Q 180 180 00| 1 3 44 N+1 &A 450 120 60| 1 14 24 S+1 +A 140 170 1.0
18 4 3v N+1 ¢A 170 160 20| 5 9 4vy N+1 &K 450 120 6.0(16 3 24 S+1 ¢A 140 170 1.0
11 20 1y N+2 +A 140 140 40| 8 19 44 S+1 ¢A 450 120 6.0(15 7 24 S= +K 110 140 4.0
17 10 2NN = +4 120 120 6.0(14 12 4v N+1 &A 450 120 6.0({13 8 INN= oT 90 120 6.0
16 2 34 V-1 vA 100 100 8.0(15 6 4y N+1 &A 450 120 6.0 6 10 34 S-1 ¢ A -100 10.0 8.0
7 13 INN= *4 90 6.0 12.0|16 2 44 S+1 +A 450 120 6.0(20 12 2v V= A -110 8.0 10.0
8 19 INN= a4 90 6.0 12.0|17 10 5v N= A 450 120 6.0 9 19 34 S-2 ¢+ K -200 5.0 13.0
15 6 INN= +4 90 6.0 12.0(18 4 34 S+2 +A 200 40 140(18 5 2&N-2 vK -200 5.0 13.0
14 12 Pass 20 16.0|11 20 24 N+2 T 170 20 16.0| 2 4 34 N-3 vK -300 2.0 16.0
1 3 INN-1 ¢ A -100 0.0 180(| 7 13 3NO-1 +9 50 0.0 180(17 11 3NN-4 a8 -400 0.0 18.0
16 4 E1042 Bésta kontrakt 17 47654 Bésta kontrakt 18 « ED7 Bésta kontrakt
Vast v D432 2NT N =120 Nord vE10 24 OD-1100 Ost v 7532 6NT S = 1440
ov + E106 Ingen + KDKn2 NS + 104
#EKn & ¢ v & NT #DKn2 & ¢ v & NT #7532 & ¢ v & NT
«DKn763 495 N6 9 86 8 «DKn83 & E92 N6 8856 aKn 210986543 N 9 9 127 12
vK10 v EKn75 S6 976 8 vD4 v 9852 S 6 8856 v Kn84 v10 S 9 9 127 12
¢854 ¢+ D2 07 4565 +10864 +E5 0754765 ¢ Kn9875 ¢ E6 033161
#432 +KD865 V745675 #EK10 #9843 V75576 #D1096 #Kn84 V33161
~ K8 + K10 & K2
v 986 v KKn763 v EKD96
¢ KKn973 4973 + KD32
#1097 #765 #EK
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
17 11 3NN= »5 400 180 00| 3 5 240-2 v7 100 170 10| 9 13 6NS= ] 1440 18.0 0.0
1 14 INN+3 &5 180 150 30|20 1 340-2 &K 100 170 10| 8 15 6y N= ¢A 1430 16.0 20
6 10 INN+3 &5 180 150 3.0|17 12 2¢ N= s A 90 140 4.0(17 12 4NS+2 & 690 140 4.0
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9 19 INN+2 &5 150 100 80| 7 11 INS-1 A -50 8.0 100 3 5 4vy S+2 & 680 7.0 11.0
13 8 2NN+1 %6 150 100 80| 8 15 2vy N-1 ¢ A -50 8.0 10.0| 7 11 4vy S+2 & 680 7.0 11.0
16 3 INN+2 &8 150 100 80| 9 13 2¢ N-1 a A -50 8.0 10014 2 4y N+2 +A 680 7.0 11.0
20 12 INN+1 5 120 6.0 120|16 4 2¢ N-1 *9 -50 8.0 10.0(16 4 4vy S+2 & 680 7.0 11.0
18 5 3¢ S= vK 110 40 140(18 6 INS-1 +6 -50 8.0 10.0(18 6 4y S+2 & 680 7.0 11.0

2 4 24V-1 *A 100 20 16014 2 INS-2 A -100 10 17.0|19 10 5v N+1 +¢A 680 7.0 11.0
15 7 240= +3 -90 0.0 18.0(19 10 INN-2 a2 -100 10 17.0|20 1 4v S= ] 620 0.0 18.0
19 & EKn6 Bésta kontrakt 20 4 D975 Bésta kontrakt 21 & DKn543 Bésta kontrakt
Syd vE9 5NT S =460 Vast v52 64 N D -2 -500 Nord v 105 44 N =620
oV + DKn10764 Alla ¢ DKn2 NS ¢ 842

*Kn6 & ¢ v & NT #EK42 & ¢ v & NT #KD3 & ¢ v & NT
4 KD9872 4104 N6 11117 11 4 862 « EK1043 N 106 1 3 4 4E106 4972 N9 9 6 107
v D843 v6 S 6 11118 11 vKD1087 v EKn943 S 106 1 3 4 v98732 vKD64 S99 6 107
+9 4532 070151 ¢+ E854 ¢73 O3 6 11106 +DKn10 ¢ E6 043734
&D2 #K1098743 VvV 7 0 1 5 1 +10 *5 V 3 6 11106 *94 10875 V43734

53 & Kn 4 K8

v KKn10752 v6 v EKn

+ EK8 + K1096 + K9753

*E5 #DKn98763 #EKNn62

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

4 6 4v S+2 K 480 16.0 20(17 1 54DV-2 &A 500 180 00| 5 7 44 S= *4 620 18.0 0.0

5 16 4y S+2 ¢9 480 16.0 20| 5 16 44 S+1 48 150 16.0 20|14 4 24 S+2 v9 170 150 3.0

8 12 4v S+2 &K 480 16,0 20(15 9 5v0-1 &7 100 13.0 50(19 12 24 S+2 ¢Q 170 150 3.0

3 14 3NN+2 &T 460 8.0 10.0(19 11 44 O-1 v¥6 100 13.0 50| 2 17 24 N= v6 110 10.0 8.0
13 10 3NN+2 &7 460 8.0 10.0(13 10 5# N-1 s A -100 9.0 9.0(|10 15 3¢ S= ¢+ Q 110 10.0 8.0
18 7 3NN+2 T 460 80 100(18 7 5&N-1 vA -100 9.0 9.0|11 13 34 S= v2 110 10.0 8.0
19 11 3NN+2 44 460 8.0 100 3 14 54DN-1 &A -200 6.0 120|120 3 2¢ S= v7 90 6.0 12.0
20 2 3NN+2 T 460 80 100 4 6 4vO= *0Q -620 3.0 15016 6 3v O-1 &K 50 4.0 14.0
15 9 3NN+1 &7 430 10 17.0| 8 12 4v V= A -620 30 150 9 1 3vV= +8 -140 2.0 16.0
17 1 3NS+1 &K 430 10 17.0|/20 2 4vy V+l 2 -650 0.0 18018 8 3NS-2 v3 -200 0.0 18.0
22 + EKD1064 Basta kontrakt 23 4 EKn10 Basta kontrakt 24 4 ED32 Basta kontrakt
Ost v10 54 S =450 Syd v 9764 5¢ V =-600 Vast v KKn93 ANT V =-430
ov +75 Alla + K94 Ingen + D43

#K943 & ¢ v & NT »K64 & ¢ v & NT #Kn6 & ¢ v & NT
4 Kn97 4532 N 118 101110 « D985 & K632 N9 2437 # 876 K10 N2556 2
v 982 v EK53 S 118 101110 vDKn532 vEK S92437 vD76 vE105 S 24552
¢+ Kn982 ¢ D104 025323 ¢ ED107 ¢ Kn8632 O3 119 103 ¢ EKn9 ¢ K65 O 119 8 7 10
#E75 #Kn86 V25323 »- D9 vV 3 119 103 #10975 #EKD43 vV 119 8 7 10

48 a74 & Kn954

v DKn764 v 108 v 842

+ EK63 +5 410872

«D102 #EKN1087532 *82

Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang

5 7 3NS+2 ¢2 460 180 00| 5 14 3NO-5 &2 500 170 10| 6 8 3NV-1 3 50 170 1.0

2 17 44 N+1 ¢4 450 150 3.0(20 4 3NO-5 &7 500 170 10(15 11 54 V-1 LN, 50 170 1.0
20 3 44 N+1 ©vA 450 150 3.0(12 13 4vyDV-1 #4 200 140 40(12 13 3+ 0= +8 -110 140 4.0
14 4 3NS+1 ¢2 430 11.0 70(10 2 44 O-1 &A 100 120 60| 7 16 24 0+2 8 -130 11.0 7.0
18 8 3NS+1 &5 430 11.0 70| 7 16 4¢ O+1 T -150 90 90|10 2 24V+2 ¥3 -130 11.0 7.0
19 12 44 N= vA 420 8.0 100(19 1 34 O+2 a7 -150 90 9.0| 9 18 34V +2 &A -150 8.0 10.0

9 1 24 N+3 &2 200 3.0 150(15 11 54 S-2 8 -200 6.0 120| 5 14 INO+3 2 -180 6.0 12.0
10 15 24 N+3 vA 200 3.0 150(17 3 54DS-2 ¥5 -500 40 140(17 3 3NO= v8 -400 3.0 15.0
11 13 24 N+3  #J 200 3.0 150 6 8 44 O= *A -620 1.0 17.0{20 4 3NO= a5 -400 3.0 15.0
16 6 24 N+3 &6 200 3.0 150( 9 18 44 O= ¢+5 -620 10 17.0|19 1 3NO+1 +4 -430 0.0 18.0
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